40

18%
30%

0%
6% / 1%

0%

45%

4000
3000
2000
1000

47 49 51 53 55 57 59 61 63 2 4 6 8 10 12 14

2003



(@}
5
1

50

- —— m-
(¢D) i —&—n-

L ——

o e——g

_50- L L1l L L1l L L1111
100 1000 10000 100000

50
r —0—m-
i —A—n-
[ e

| uw\a\n\j

50 L
100 1000 10000 100000
1 -46
@
20
B-
y_
n- 10

20ppb 80ppb



20 14
15
€)
12 6
6 B
1 ! n=5 7
A B
2)
M- 2.0 2.0 2.2 2.3
0.37 0.08 0.11 0.04
n- 13 1.6 14 14
0.17 0.06 0.15 0.10
2.7 2.8 2.8 2.7
0.20 0.08 0.19 0.15
1)m- n- :ppb ppt 2)
n=3
10 A
A 27 25
28 26
29 29
28 30
32 31
29 30
10>=<1log




